1, total heat

[t-heat] in Xxyz mesh - X

[@21nos/A8IN] 1e8H

~40

z [cm]



Heat [MeV/source]
N
o

N
o

[t-heat] in xyz mesh - ix = 2, total heat

107

10



Heat [MeV/source]
N
o

N
o

[t-heat] in xyz mesh - ix = 3, total heat

107

10



Heat [MeV/source]
N
o

N
o

[t-heat] in xyz mesh - ix = 4, total heat

107

10



Heat [MeV/source]
N
o

N
o

[t-heat] in xyz mesh - ix = 5, total heat

107

10



6, total heat

[t-heat] in Xxyz mesh - X

[@21nos/A8IN] 1e8H

40

o
¥

z [cm]



Heat [MeV/source]
N
o

N
o

[t-heat] in xyz mesh - ix = 7, total heat

107

10



Heat [MeV/source]
N
o

N
o

[t-heat] in xyz mesh - ix = 8, total heat

107

10



Heat [MeV/source]

N
o

N
o

[t-heat] in xyz mesh - ix = 9, total heat




Heat [MeV/source]

N
o

N
o

[t-heat] in xyz mesh - ix = 10, total heat
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